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18 19 20 21 22
( (A) 2,556 1,016 1,162 1,568 1,282
0 0 0 0 0
2,556 1,016 1,162 1,568 1,282
( ) A) 1172 1,079 1,066 1,202
0 0 0 0
1172 1,079 1,066 1,202
(B) 0.79 0.90 0.76 0.84
i x B) ) 6,254 7125 6,017 6,650
[(A+O)] (D) 7,426 8,204 7,083 7,852
(E) 0 0 0 0
[(E)/(D)] F) 0.0% 0.0% 0.0% 0.0%
18 19 20 21 22
24 12 12 12 12
54 17 17 1%
18 6 19 309416 663666 590,550 654333
10 1004 1006 1004 1004
18 22 22 22 22
18 py) py) 54
412555 372509 358318 397166
1004 1006 1006 109
60.0% 90.0% 90.0% 90.0% 90.0%
45,80 88,30 86.10 85,20
76.30% 98,15 95.7 9477
100.0% 100.0% 100.0% 100.0% 100.0%
8450 11175 §0. 1% 85,40
! 8450 11175 §0.1% 85,40 0.0
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